<|DOCTYPE hgx PUBLIC™-//Histogenetics//DTD HGX LO//EN" "http://10.201.20.244: 1000/5ite/Analysis/hgx-1.0.dtd">
<hgx version="1.0">

<project names=""»

<reporting-center code="" />

=sarmple id="5ample 1D 2" center-code="001">
<typing>

<interpretation date="20211110">

<haploid locus="A" method="5BT" type="0000" />
<haploid locus="A" method="5BT" type="0000" />
<haploid locus="B8" method="58T" type="0000" />
<haploid locus="8" method="S8T" type="0000" />
<haploid locus="C" method="58T" type="0000" />
<haploid locus="C" method="58T" type="0000" />
<haploid locus="DRBE1" method="5B8T" type="0000" />
<haploid locus="DRB1" method="5BT" type="0000" />
<haploid locus="DRE3" method="5BT" type="0000" />
<haploid locus="DRE3"™ method="5SBT" type="0000" />
<haploid locus="DRB4"™ method="5BT" type="0000" />
<haploid locus="0DRE4" method="S8T" type="0000" />
<haploid locus="DRBS" method="58T" type="0000" />
<haploid locus="DRB5" method="SBT" type="0000" />
<haploid locus="D0B1" methad="58T" type="0000" /=
<haploid locus="D0B1" method="58T" type="0000" />
<haploid locus="0DPB1" methad="SBT" type="0000" />
<haploid locus="DPB1" method="S8T" type="0000" /=
zgenotype-list db="HLADB" version="3.34.0">
=diploid-combination locus="A">

<locus-Mock=

<allele-list=

<allele=0000<fallele>

<fallele-list=

<flocus-block=

<locus-bock=

<allele-list=

<allele=0000</ allele >

=fallele-list>

<flocus-block>

= diploid-combination=

=diploid-combination locus="8">

zlocus-block=

<allele-list>

<allele=0D000< allele >

<fallebe-list>

</locus-block>

<locus-block>

<allele-lists

=allele=0000=fallele>

=fallele-list>

<locus-Mock>

<diploid-combination>

<diploid-combination locus="C">

<locus-block=

callele-liste

<allele=0000=</allele>

<fallele-list=»

</locus-block>



<locus-block>
<allele-list>
<allele=0000<fallele=
<fallebe-list>
<flocus-block>
</diploid-combinations>
<diploid-combination locus="DRBE1">
<locus-Mlock=
<allele-list>
<allele=0000< allele=

< fallele-list>
<flocus-block>
<locus-block>
<allele-list>
<allele=0000< allelas
<fallele-list>
<Mocus-tlock:
</diploid-combination=
<diploid-combination locus="DRBE3">
<locus-ocks
<allale-list>
<allele=0000< allele>
<fallele-list>
<flocus-block>
<locus-ock=
<allele-list>
Zallele=0000 fallele
<fallele-list>
<fMocus-block=
</diploid-combination=
<diploid-combination locus="DRE4™>
<locus-Mock>
callele-lists
<allele=D000=/allele>
<fallele-list>
<flocus-block>
<locus-Mock=
callele-list=
<allele=0000</allele=
<fallele-list>
<flocus-bock=>

= diploid-combination>
diploid-combination locus="DRB5" >
<lpcus-Mocks
<allele-list>
<allele=0000</allele>
<fallele-list>
</locus-ock=
<locus-Mock>
callale-list>
2allele=0000< fallelas
<fallele-list>
<flocus-block>
«/diploid-combination>
=diploid-combination locus="DO&1">
<locus-blocks
<allele-list>



<allele=0000< allele>
<fallele-list>
<focus-ock=
<locus-blocks
Zallale-list>
<allele>0000</allele
<fallele-list>
<flocus-lock=
</diploid-combination>
zdiploid-combination locus="DPB1">
<lacus-blocks
<allele-list>
<allele>0000</ allele =
<fallele-list>
<flocus-ocks
<locus-blocks
<allele-lists
<allele>0000</allele=
<fallele-list>

< flocus-blocks
</diploid-combination>
</penotype-list>
<finterpretations
<hla locus="A" />
<hla locus="B" />
<hla bocus="C" />
<hla locus="DRB1" />
<hla locus="DRB3" />
<hla locus="DRB4" />
<hla locus="DRBS" />
<hla locus="D0OBL" />
<hla locus="0DPAL" />
</typing>

<fsample>
</project>

</hgx>



